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LAYOUT. 
DETAILS 

ALL ADDED UP TO 3PIPS 

1. A 90pips grid is set to achieve 30pips profit 

2. Spread of the currency symbol set by the broker is added to the grid 

3. Counter stop orders are placed within a 30 pips range interval with increase lot size 

4. No stoploss  

FORMULA 

Since a grid is a has to be set. The number of pip to be filled should be multiplied of 3 :  

For instance if 20 pips has to be filled, the grid limit should be multiplied by 3 plus the spread, hence 

20pips for buy zone, 20pips for gap and 20pips for sell zone include spread of symbol. [60pips grid plus 

spread] 

LOT SIZE CALCULATION:  

    (X)a , (3*X)b, (B*2)c, (C*2)d, (D*2)e…..and so on  

    (note value of “X” is the first lot size to at inception point.) 

  

    Eg. 0.1, (3*0.1)=0.3, 0.3*2=0.6, 0.6*2=1.2, 1.2*2=2.4…. 
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